Greek Conjugation Worksheet

Conjugate the verb 8idwuL

Tense:
Present Active Indicative

singular plural
Ist person SLOWHL dloopuev
2nd person 8Lowe 5idote
3rd person dLowoL 5186001

Present Middle/Passive Indicative

singular plural
1st person dLdopaL 516000,
2nd person dldoo0L 518000
3trd person dldoTot dldovtaL

Present Active Subjunctive

singular plural
1st person OLo® IRAINISY,
2nd person dLOG)G oo TE
3rd person 8166 oL8GoL

Present Middle /Passive Subjunctive
Does not occur in the New Testament

Present Active Imperative

singular plural
2nd person dL6ou dLdote
3rd person 8L60TW dL86TwonY

Present Middle and Passive Imperative
Does not occur in the New Testament.

Present Active Infinitive
SL6ovaL

Present Active Participle
51800, 6Ldodoo, HLEOV
declined like Abwv except for the nom. sing. masc., and the accent

Present Middle and Passive Infinitive
516006aL

Present Middle and Passive Participle
8L80uevog, -1, -ov




Imperfect Active Indicative

singular plural
Ist person €dléovy edldoper
2nd person €dLooug €dL80Te
3rd person €dldou €dLdooay, €dLdoLY
Imperfect Middle and Passive Indicative
singular plural
Ist person €dL80unV €5180ueO0
2nd person €816000 €8L6000€
3trd person €d16010, €6L8€T0 €5160VT0
Aorist Active Indicative
singular plural
Ist person €dWKOL EBWKOLEY
2nd person €OWKOG €dWK0TE
3trd person €dwKe €dwKaY, €dwony
Aorist Active Subjunctive
singular plural
1st person a) WATNISY
2nd person 6Gg, 601g 0WTE
3trd person 8@, 601, dwn d@oL
Aorist Middle Indicative
singular plural
Ist person €dounY €80uebo;
2nd person €dou €8000¢
3trd person €010, €6€T0 €d0vT0
Aorist Active Imperative
singular plural
2nd person 80¢ 80Te
3rd person 50TW 80Twony

Aorist Infinitive
dodvoL

Aorist Participle
dovg, dodoe, S5OV
declined like the present active participle




